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Solving Quadratics by Period (circleone): 5 7 | Date: Name: l/r\b v
Factoring WS_1
/
Solve each quadratic
1, x*-5x—6=0 — —6X +1X -6 =0 = (x—g\)(x.‘_l) =0
Op-1 ) X —b X-b=0 ev x#H=0
v=-S
cC=-—

2. x2+5x—24=12

~bx

% [ x*]
i

x:6 ov Xx=-|

-2 M1
”""l"\_ x> 4dx ~H4x —36 = =0 = (xr1)(x-4)=0
x*+Sx -3 =10 — -0 x -4=0

ol " )<+0| x+4 =

b:5 4 X4 XK x=-9 ec x=

c="3b 5 uly (-3

3. x2-28x+75=0 i [l

@z X -}Sx -3x +15 =0

b= -18 -3?

c=75 -

4, x*+15x+32=—

X 3\ (X“g\sl =0

x
»3><

t+2x
Ix"+igx +32= O

a= | 3')
w18 TE R
(, % \%

5. 5x3—-19x2 +12x =0

* 2% Hbx +3X =0

T % () (x46) = O
x ﬂ Ax X‘\,'l——vo of XHL=O
\\) b | 39

X (Bx*-l4x +13) =0~

X (gx Yy -IFX x(A)=0 = X (’( 3) (6x-4) = O

X - 3Oor€x-‘l =0,
5x -4 /»T‘
a:s bO Py
o= 4\ 5 X |5x"|-4x (20 of X% ar x = s
AU -3 [2s 1 |
R ] a= 13 2 2 (3x* +4x ~bx ~8) =0
——————— = - -
bx®-4x ~1b =0 2: :;
7 (3 -2x-8) =0 + 4 =6
L
&:1.) 6x2+17x+11=0 bxi chx Hllx $1=0
o< 11 bb X +1 ( x ¥l Y(bx+\ Ny =0
c-nw + b + U é’f bx*| b x - \
17 ARITeEy R X= Lo x= ’1/4
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8. Lupe has a rectangular garden. The length of the garden is 2 ft. less than three times its width

a.

C.

A=

9o =
Ao =

9%
O‘;

a=
b= "2

C= ’“ol\o

Write two variable expressions for the dimensions of the garden

Length: 3(/\) "a
Width:  \aJ

If you were told that the area of the garden is 96 ft, how could you figure out what the dimensions of the
garden are in feet? Explain your steps; describe what you know and how you can then use that information
to figure out the actual dimensions of the garden.

What are the actual dimensions of the garden?

2wk = lb@‘\“
W, Aength*
(355 Wi = b

> _D\\,\;
w _q,

vt Qo Ay = 025w lbw 18w =90
2 +lb 0= (3uwrb) (w-6)
{61,\/'”5:0 0oC w-—(:,"o
2w = -1b
w= "3

-

W=
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